V=027
1
13
=
F
=
=
E
SC
=
2.
SC
-1

SC

TASERVH RS (2006.3)

203(58%)
195

20 50
60 70 15
122(63 )
10 87(44 )

-1

2005 11 13 11 3l
C )
o
=
o
[m]
2
3.
a)
68(35 )
413 ) -3
)
75 38
6
o0 ()% N N I
‘ | 143073)

9(35)
]

‘ ‘ 5207)
| ) _V_!J ‘ (@) %

—-685—

13(50) !

-3 4



1V-027 TARZFBS VR SGHAF TR RS (2006. 3)

)SC 5
143(73 ) -4 0.477 **]
0.550 [**]
0.244 [**]
0.388 [**]
0.395 [**]
0.462 [**]
0.222 [**]
0.412 [**]
4 0224 [**]
' 3
SC
95
_ 38% 25%
2 48% 38%
60 61% 33%
(1) 30 38% 15%
0.447 0.395 s
30% 11% 51% 11% 59% A4% 28% | 14% | 27% | 20% | 6%
52% 15% 43% 6% 520 64% 28% | 15% | 28% | 19% | 6%
36% 18% 58% 0% 58% 64% 28% | 21% | 21% | 25% | 0%
21% 16% 63% 8% 44% 51% 22| 7% | 28% | 28% | 4%
0.55 0.462
22
2)
0.2 6.
sSC
SC
5.
4
-3 E
61 SC
60
15 21 1)
44
p21 2004

-686—



